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How does a mail department function in an
organization? Explain in brief.
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9. Write short notes on any two of the following :
(a) Dicta phone
(b) Electronic task
(c) Graphic tablet
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Describe briefly the different types of
communication services used in a modern
commercial establishment.
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Time : 3Hrs. Sem. -V/MOP
O.E.S. & Off. Auto.
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR(sreram) i) fr=fafEa 4 4 o9 wefiiaRor a1
What are the function of punching machine? BIIEl 82—
(@) s ww
gfemr wefle & @ s € ? (6) STRFET o) F &
(A) wHaRal &1 faxie
5. What are the capabilities of word processor systen;? (@) 7T & adeq

S gIER Riew @1 gwad | @ ?
(i) Mailing machine includes:
OR (@1era) (a) Furniture
(b) Equipment
(¢) Xerox machine

. o
What are the uses of Typewriter machine? (d) None of these

CHU—AA B T ST & ? i Afel T wefim 399 9 fed wnfie ol 28—

6. Define electronic devices with example. (@) q,—rﬁir\f
4 (@) a=
saacife farsdw & Sl dfed (&) Sixfew #72h=
qRyIfa SR | (]) s & PIg L
OR (3121dn) (iv)  Office automation:

(a) Reduces work torle
(b) Reduces work
(¢) Reduces mechanism

sratad w3l & A= yaRI &1 avf & | (d) None of these

Describe different types of office letter?
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GROUPB

Answer all Five Questions.

Il ufg g & SR o

4x5=20

2. Define teleconferencing. Also write its two

importance. 4
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It is a Input device of computer:
(a) Key board

(b) Monitor

(c¢) Chechis

(d) None of these

Ig HFYTY $I 39Yc fearaw 2
(@) @ @S

(@) #ifex
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() 39 9 BIg 78

Tabulating machine is:
(a) Furniture

(b) Office Equipment
(c) Stationary

(d) None of these
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(xvi)

(xvii)

(xvii)
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Which is not a data processor?
(a) Computer

(b) Note book

(c) Accounting machine

(d) Listing machine

3 ¥ I Sler g a8l 287
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Emergency call includes:
(a) Traffic police

(b) CID

(c) Ambulance

(d) None of these
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(31) BT ufa
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() 3 4 »ig &

Fascimile is the modification of :
(a) Telephone

(b) Television

(c) Teleprinter

(d) None of these

wiRmgd § 39 9 fHaer aRspa wu
3
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(@) <ehifas=

(d) eehifiier

() 39 9@ BIg 7€

Business reply letter is :
(a) E-mail

(b) Out word mail

(¢) Inward mail

(d) None of these
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10. What is an electronic message transmission?

11.

Explain its main elements.

sAagiNe YT -y @& € ?
SHD Y& dadl B ATAT DI |

OR(37214)

What equipments and machines will be needed in
an advertising company?

U fagmud dul § fa #efial vd Susvor
@1 ragaHdar sl ?

What is Duplicating machine?

What role does a duplicators play in office?
6

IgufasRor I3 A1 2? diad H qgufaeon
I3 T qADT 3T SRl &7

OR(3721dT)

Explain in brief about stationary standerization?

P.T.O
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10. What is an electronic message transmission?

11.

Explain its main elements.
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OR(3721dT)

What equipments and machines will be needed in
an advertising company?
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What is duplicating machine?

What role does a duplicators play in office?
6
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Explain in brief about stationary standerization?
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